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SOCIAL STATISTICS -  II WITH COMPUTER APPLICATIONS

"Time: Three Hours ; Maximum: 75 Marks
SECTION-A (10 Marks)

A y  A'yy '-.A ' V ; - Answer ALL questions y . < yyyyAf
■y, ’ y. , .yy . ALL questions carry EQUAL marks (10.x 1 = 10) ^  .

l. : If the attributes are completely associated with each other than the coefficient will be. . :
(i) -1 V (ii)-l ' L (iv) 0 (iv) none of the above y y

2; When the frequencies of an observed attribute is equal to expectation,, the two attributes 
are said to be y;.y ' . •. ’ y. , ■ A A • . A ■ ■ ■ A...'  A'A A A y: A;’

' (i) Independent (ii) dependent(iii) equal (iv) none of the above

3. Probability takes the limit; y y ■ yA ^ ^; “
(i)-ootooo v y (ii) -2toA2 (iii)-lto-t-1 (iV)Otol >r V

4. Mean, median and mode coincides for r ■y -.;-,y ' distribution . -
(i) Binomial (ii) Poisson (iii) Normal (iv) Bernoulli

7 5. Total fertility rate refers to .' yA A'y y',". y A' A-J y  V
(i) Number of births per 1000 woman A(ii) Number ofwoman betweefr T5-49 years 
(iii) Number of children per woman (iv) approximate family size

6. Which of the dpllowing is not a measure of mortality? . ' ; ,
(i) Crude death rate ■ yA ■ (ii) specific death rate y , ' ) ;
(iii) infant mortality rale (iv) crude birth rate A A A.-

7. A timeseries consists of " Ay, A"A ‘ ; / ' A A A  \ ■ y : y '
(i) Short term variations yA yyA ry (ii) long term variations . A y -

; it (iv) all the above

(i) Secular trend - y , . (ii) seasonal variation
. (iii) cyclic variation , y . y:y"A (iv) irregular variation, ,

9. A y  • yA" ■ function in MS Excel worksheet;represents the total number of
entries in the cells A .y A-/ . Ay ' -'-A' ; ; y '.y ;
(i) Count (ii) Total (iii) sum A. (iv) averge

10. The function used to gel a binomial distribution probability for a given number o f
success ’ • A y -A. : y 7 ’ y:y A A \  ■ A... y  ■
(i) BINOM.DIST • y A (ii) BINOM.DIST.RANGE ’
(iii)BlNOM , Ay: 'A, (iv)BLDIST ‘ y  ■ -.-A ;->-y.

■ A A '.A f ' SECTION - B (35 Marks) A" A A A ‘
. -/.A  A ' A y ’" A. y • Answer ALL Questions

(AB) -  50 (Ab) = 25 (aB) = 40 (ab) = 20 A

. Ar Ab) A  small groupOof individuals was examined for the presence or absence of certain 
infirmities. Two chief defects were noted namely blindness A and deaf-Mutism B. The 

: following results were obtained .: Blind and deaf mutes % 10; Not hlind and not deaf- 
mutes =5 BlindAnd not deaf-mutes -30; not blind and deaf mutes = 5. ;Find -thfe:'ext6ht; 

•• • .andytte-mtiftA^^ A'^nd-deaf-mUtism B'--are asspeiafedr < A y ,

y ,  ■•A.y* ' --A ; y- A '. Cont...



■V

yf-
v

pX ■ .

t; < ■
■AP- %PA

K/
,%Va:12. a) T en coins are tossed simultaneously. Find the probability of getting 

 ̂ ip] atlcast seven heads ii) exactly seven heads iii) atmo t̂ seven heads.
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13.

b) Explain the sources,and uses of vital statistics. ^

' 14. a) Explain the components olpime series. X X y,
P/: / : y. X.;

fluctuations. ..y: * ■
X-,; Year yv 1973 1974 1975 1976 1977 1978 1979 1980 1981 1982
Production 

(000 tonnes)
" J 'l;r; .yx;:XW; ' 25 P24P:

pXfyy
v"22:-. xX25y;X. 26 ■21 yC.26--P-

15. a)

:x ,p

4. v -

fc:4y>
1 in MS excel.
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P. Xx'P SECTION - C (30 Marks! A;P Ay/
|P ';-V-Pv . Answer any THREE Questipns PppyXy~,X A 
; : ; \ ALL Questions Carry EQUAL Marks y^3: Al'O'A 30) : < > .V :,X; ?-<:

16. In a survey covering 1000 persons it was found that 520 were males, 400 were manned
V and 580 were employed. There were 340 married males. The number of married ‘

■ employed was 280. It is required to find if some males were employed and state how T ■
Y  many at least as such. - P ^ y p  \yXxXvXyy y; y  XPX XXy A p  X : XX XX y XXppP '  X

17. Students of a class were given an aptitude test. > Their marks were found to be normally ,
distributed with mean 60 and standard deviation 5. What percent of student Scored i)

’/ p l  - ^  ^  ---- - --i:-
: P.

■ . V..

18. Compute i) Gross fertility rate ii) Specific fertility rate iii) Total fertility rate and
7 ■ xpx.

Y X,
. Age group of child 

X bearing females 3
■■ No of women Total births ,
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